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QUESTION 1

The 10GE networking of an OceanStor 9000 uses a CE6850-48S4Q-EI switch. Which of the following statements about
the switch are correct? (Select two)

A. The switch supports a maximum of 32 10GE 5FP+ Ethernet optical ports.
B. The switch supports four 40GE QSFP+ Ethernet optical ports.

C. The 10GE ports on the switch can be used for interconnection between downstream storage nodes or connection
between storage nodes and the upstream service network.

D. The 40GE ports are used for switch stacking.

Correct Answer: BD

QUESTION 2

There are four types of ports on the N8500 clustered NAS engine nodes: heartbeat port, management port, service port,
and storage port. Which of the following statements about the port types in the figure are correct? (Select two.)
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A. 1 indicates a service port.

B. 2 indicates a storage port.

C. 3 indicates a heartbeat port.

D. 4 indicates a management port.

Correct Answer: BD

QUESTION 3
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Which of the following is not the advantage brought by global cache?
A. To improve cache space utilization.

B. To improve the data hit ratio.

C. To improve the overall system performance.

D. To improve system security and reliability.

Correct Answer: D

QUESTION 4

Which of the following statements about the intelligent load balancing feature of the OceanStor 9000 are correct?
(Select three.)

A. Performance is balanced among all nodes. Capacity cannot be balanced among all nodes.

B. Nodes can be divided into zones. An independent load balancing policy and an independent domain name can be
configured for each zone.

C. Load balancing policies can be based on CPU usage, memory usage, bandwidth usage, number of network
connections, and/or node capability.

D. The OceanStor 9000 provides the load balancing service based on round robin, CPU usage, or the number of
connections to a node.

Correct Answer: BCD

QUESTION 5

Hadoop is an open-source software framework for distributed processing of massive data. Hadoop has performance
and cost advantages in terms of unstructured data processing.

A. True
B. False

Correct Answer: A
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